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PART
' l . Write eetch of the 1'clllowiug r'r' it lr irositive exponellts

-  - 1a .  ) " u.fr

b .  ( - 5 ) - '
')

g. 7-
- f -

.  l :  
- l

n'  \3-r i

,\'l-=i

I--i;-:5
il ' t) -

/ . s \ - r
l ; l

q - l-f
r  

"  
t 0

I  r o - 1  I

f ./  ̂  r ' -4 ?,r-?r ' l
d. (+) e. l;=i-\ ) /

Everluate each of the follorving:

a. 2-3

d ,  ( -7 ) "

/  l r  \ - :s.\: /

PART

/ A.)Evaluate each of the followittg:
\/

a .  (3 - t  +  3 t t ; - t  b '

d. (23 - 22)(Z-t - 22) e.

q. i=; * l ; i  h.
J  - _ J

5. Evalr"rate each of the followitig:

a. 3e x 2l-4

c. 321 .\ 4-'=
i o -

6, Simplify each of the following:

3,  ($a+2d) ( l  su- t )  t  !3o+? b. l (21'" ' ,  +- (9" ' l -2) l -?

c.

JE

i .

fill si,opiify eacii of the following explessro's. wrire the answer witb positive exponents'

V 
^.  t1 ' t6 ' t t t -3  b '  n-3 -  c t -5 c '  ( ' r?1 ' - r ; - r

d. (FJ-' e. (x-r10;-: t '  (15r-a)(2r-3)

e. r2aa + (3a-3; h. tg+]-

/ l \  
-

\5i
( 4 -

3 - 6  x

r  O ?
t J -

^ 1 .  .  / r - l  n - 1 r O
. / - ' l : 1 4 - L I -

5 - 2 1 5 :  -  5 0 \
J  \ J

2-t  + 2-3-- n=-f .

b.  2 t6  x  42  X ( -8 ) -?
/ r  \  -

d.  254 x (+)  + 125:
\ J , /

If x = 2 and.t' - -1, evaluate each of the followitlg:

a. +:+ h. (zx-71,-+1-z
I  ) r  ' \ , -

flfrwmm chapter4



A 1

3"2 Exercise

Evzrluate.
(a )  -3 - '?  (b )  ( -3 ) - '

(e )  22  x  3 - t  ( ! )  (2 'x  3 ) - '

Evaluate.

(a) 2-u (b) 30 x 2-2 (c) 5- '

(d)

(h)
(c)

(e)
. o_ J

t -  ? \ 2

( - 3 ) o
- ( -  3 ) - '

( d )  - 3  x  3 - 1

( f )  (-7)o (g) 3u -  l - '  (h) -3- 'z + 30 ( i )  8 + 2-2

Express each of the foliowing with a positive expon€nt'

(a) t-' (b) y-' (c) a-' (d) b-' (") # 0 #
l  

-3  3x-o

tc) * 
(h) Zx-a (i) ab-s o F 

(k) 4a-2 (t) 
zy-z

Express each of the following with all variables in the numerator'

1  ^ ,  x  , . , 3 o  / r \  4  r - t  3  ( f \  3  
=(4 

; 0) u 
(c) 

F 
(oJ 

;- \e) --;=r t'r 1r -p r1-z

Simplify each of the following'
(a) as x a-3 (b) (n-t)' (c) as + a-8

(e) xs +x-r ( f )  (xyt)- t  (g) (a-t) t  +.a- l

/ r \  - 2
( ' )  { ;  }

\r,/
/ q -  1 \  - 2

() (r=J

(d) (3o)-1
/  h 3  \ - 2or b-j

(c)

(f)

{ul

(e)

4-t(42 + 40)
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90 3 Applying Concepts and Ski//s: Beal Numbers

O 
Evaluate.

(a) (30 + 3\-2

(d) (33 -32)2 + 32

E v a l u a t e '  
4  t + 3 - z  . . . 5 - 1  - z - z

(a)(-3)-,(3t-3a) b)# (")#; (d) ?t .F

Simplify. Write each as a power with a sing-le base'

(a) (8r-r)( i63-n)- (42n1-t  (b) L3-2Q7^ :  9-91-1

If x : - 1 and y : 2, find the value of each of the following'

.  .  l6x-3y-z 2*- ty ' '  
,^,  *- '  -  Y-t

t"l T 
(b) (3xay-2)-2 (c) ==zi @ ;=z + y=t


